XIAMEN HOPERGY PHOTOVOLTAIC TECHNOLOGY CO. LTD.

Hk pE' glJ 630 Tonghong Road, Tongan District, Xiamen 361100, CHINA

P +86 592 5689685 F +86 592 5689685 E info@hopergy.com

Product Specification HOP-TRB-AFK-ADOO Ver: 1.0

W g \
--------- R A 3
_____________ = —— RN )

——— AN

S 000000000\ AL

all T L

1700

5 g HSAE R <} Feature Size 58 | BT Py
No. Part No. a L1 L2 L3 Weight Suitable for Remark

1 TRB-AFK-AD15 | 10~15° | 270 210 | 1500 3632 | 10~15"RAR
2 TRB-AFK-AD30 | 15~30° | 430 430 | 1415 3846 | 15~30°WHR
3 TRB-AFK-AD60 | 30~60° | 830 830 | 1415 4379 30~60°T

Name Adjustable A-Frame Kit
Stock Code TRB-AFK-ADOO
Weight(g) See above table

HOP-E10-1700 (AL6005-T5) x 1
HOP-E11-1560 (AL6005-T5) x 1
HOP-J06-0000 (AL6005-T5) x 1
HOP-J34-0030 (AL6005-T5) x 1
HOP-J07-0000 (AL6005-T5) x 1
HOP-J70-0033 (AL6005-T5) x 1
M8 Hexagon nut with flange x 1
ST6.3*25 Self-tapping screw(SUS 410) x 1
M8*20 Hexagon socket head cap screws (SUS304) x1
M8*55 Hexagon socket head cap screws (SUS304) x1
M8*60 Hexagon socket head cap screws (SUS304) x2
d8 plain washers(SUS304) x3
d8 Spring washers (SUS304) x3
M8 Hexagon Nuts(SUS304) x3
Packing 100pcs
Carton size According to customer requirements

BOM

www.HOPERGY.com


mailto:info@hopergy.com

